Math 182 Polar Thing Name:

24 Apr 2017 Show Appropriate Work Point Values in { boxes |.

Before you start writing on this, consider the use of scratch paper.

You will find the following identities useful.

1
sin®z = 5(1 — c0s 21)

1
cos’z = -2—(1 + cos 2z)

1. Carefully sketch the graph of the limagon! 7 = 1 — 2cosf. Find the area between the inner
and outer loops of the curve.
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!The term derives from the French word limagon, which means ”snail.”



2. Carefully sketch the graphs of the limagon » = 1 — 2cos§ and the circle r = /3 — 1 a~ 0.73.

Find the area inside the inner loop of the limacon and outside the circle.
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. Carefully sketch the graph of the cardioid 7 = 1 — cos@ and find then find the length of the
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